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1. HEEX 2126 1978 1 846 - 132 -6.7%
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3. RIEHE 17 19 9 - 10 -52.6%
4. VREEE 68 84 69 - 15 -17.9%
5. BARBEBFT 172 174 115 - 59 - 33.9%
6. BEBMIET 56 48 54 +6 +12.5%
7. BEEX > BHEE:
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- R H 15 11 8 -3 -27.3%
- HEZE 135 77 51 - 26 -33.8%
- BE/ZFEERE 43 38 41 + 3 +7.9%
8. #F Em 234 224 255 + 31 +13.8%
9. Z=EYHEIEE 70 43 33 - 10 -23.3%
10. REBRNIEH 71 89 66 - 23 -25.8%
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- PEFRHGETAR) 120 89 77 - 12 -13.5%
- FEFHFEEASEZR) 126 108 94 - 14 - 13.0%
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- Wik 19 40 28 - 12 -30.0%
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12. FISESHE 193 170 156 - 14 -82%
13. BREREEIET 3 3 5 +2 +66.7%
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